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The partners — PemwnT

OVERVIEW

All three mM22 (including X7N2 X212, RXy°X¥n X213, XHp X22) as well as other nindon
including M¥2w and M>» comprise P11 770. MoOIN will determine why does X212
812 follow 'Ry ¥n X312,

— NN NDDDN NTN P8 N9

The entire’ order of P11 is one noon.
04t DAY DIAYT RIP P993) (v,ap 97 80P na2) NP I19)N2 1359N T

As the X3 states in °X»p 137 P19 and in the first P79 of 7797 7792y noon.

Therefore it is logical to assume that there is a natural continuity between one 79 and another in
the same naon. Specifically there should be continuity between the last P79 of Xy>X¥n X221 and our
first 71wn here in X7N2 X22.

— NP8 N33 9NN 17 RNODN NNIWI NN YIDY P98 RNODN RTIN 2N ND 199N

And even if P11 770 was not one No07%, but rather Ry ¥» X212 ,X»pP X822 and K22
X7N2 (etc.) are separate “nindon it would still be necessary to explain why was

this n2on — (namely X232 X7n2) taught after Xy>x» X223 N20N. What connection is there
between these two N1noJon?

moon will offer a proof that the mn2on were arranged in an organized manner; thus requiring an
explanation for their specific order.
— (3,297 VIV NIVN V92 NI P1TT INIYNTI

As we find that the X773 inquires in the beginning of myaw novn:
— P D993 19) MIAY NPT NIV NN P90 19999 NI 27990

‘Since the Xin concluded m>» noon what is the reason that he is teaching

MR noon after M>o» Noon’, and similarly in various’ places the xn3 requires the
reason for the specific order of the mnaon. We derive from those mani that there is a reason in
the order of the mnoon. What is therefore the reason that 2"2 is placed after n"2?

mMooIN anticipates a possible refutation of his question:

"1t perhaps should be in reverse (for instance). Then obviously this n3on would be called xy>¥2 X232
* There is a dispute whether this is referring to the entire 7p°11 770 or only to the three 'maa'.

3 The ‘First 5177, also called '2°%y 9137 as opposed to the second 7137, called "2°58m1 21,

*In the X3 in P"2 and 1"V there is a NP2 between 70 271 X177 27 if X7 NdOR X717 P°R°13 7910,

> See X,2 7010 where the X»3 inquires why does 7010 follow 7.
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And that which the X773 says that in two ninoon there is no order to the nyvwn.
This seemingly answers the original question® ([at least] according to the one who maintains
X°77 N20OR KT IRD 1°2°71 7791D).

mMooIn responds that the statement 73wWn? 270 X N20» N1 -

— 010 75 9NN NPITNN 1Y 1359
was said only concerning the rule of ano 5'"nRY npY»2rn. This rule is valid only if the
ono 2"nR1 npYona is in the same noon. However if the ono 2"nXY nomn is in two NIN20n, we

cannot follow this rule, as M0N continues —
— SmuNan D7D NNINNND NIY DINYD MNIDNN 970 10N NIYW KD 2297 DIVN

Because "2 did not teach his students like the order of the ninoon which we

follow, and at times he may have taught a later noo» before an earlier Noon. The
question remains (even according to the X7 n3on K77 WY PRI 7910 7"1); why was 2" placed
after n"2?

mooIn replies:
— (2,507 97 xy¥a Ka3) DIYIT NPIO TAN INPT DIVN NNYV 13977 PHY 13939 99IN)

And the >"1 says that this is the reason why there is a logical continuity from "2

to 2"2 because our 711w7 is referencing the 71w in the preceding P79; the last P9 of
n"a, where it stated —
—Pamy 91933 BNN INY 591 9919 DIVYA BYPIN 199V /3 YW 7YY 193N

%It also poses a problem why does the xm3 seek an explanation why 710 follows 711 (and my1aw follows man [see
footnote # 2]).

7 There is an accepted rule that if in one mwn we find a dispute between 2°Xin concerning an issue, and in a
subsequent 71wn, this same issue is resolved in favor of one of the disputants (by stating it in a 71wn without
mentioning any names — anv), we follow the ruling of the 71w» ono as opposed to the disputant in the previous mwn.
This rule is valid only if the subsequent ;712w» ano is in the same nN2on as the previous m1wn where there was the
nponn. If however the 73wn ano is in another Noon, even if this other NJon is a ‘later’ Noon in the order of 0"w, the
rule does not apply. The reason for this rule (in one ndon) is that it is assumed that originally *27 (who compiled and
organized the n11wn) taught us that this issue is in dispute (and no resolution has been made). If in a subsequent
71wn (in the same n2on) the issue was resolved, it obviously means that after his initial uncertainty as to whose
opinion should be followed. "27 resolved the dispute.

8 Therefore even if we find a npY?nn in naw noon (for instance) and a oNO in P21V NOOM, we cannot infer that the ano
in P21V was taught after the np2nn in Naw (even though that in the Mnoo»a 970, 1°171%y follows nNaw), for *27 may
have learnt with his students 1217’y before naw. It would therefore be a np1>nn >"nRY ono where the 7597 is not
necessarily like the ono, as opposed to a ano 3"nXY nPY?nn, where the 7577 is ano. In one N2on however, *27 taught it
in the same order in which he subsequently compiled and organized it. The above notwithstanding, after *27 finished
teaching all the 71wn 370 7YY to his students (in whatever order), he made a specific order in the n1"1wn as to which
noon comes first and which naon follows, etc. He certainly made this order in a reasonable manner. MoIN is
searching for the reason in our specific case.

’ See “Thinking it over # 3.
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‘A house and an attic that belonged to two people and it collapsed. The two
original owners divide the wood, etc.” amongst the two of them, and the X723

refers to these two owners as partners. This is similar to our 7wn where we have Pomw
and we are also discussing a division of the wall and the property, there is therefore a logical
continuity.

mooIn continues to show an additional similarity from the very last 71w» in n"2:

SNV P23Y MNT DN P9I 2) DY T NN /2 (3,np 97 0w) ) 2INDH
And we also have a 71wn there concerning two terraced gardens, one higher than
the other owned by different people and there was a vegetable growing in the
elevation between the two gardens. The mwn discusses who can claim this

vegetable as his, which is also a conceptual n¥onI. They are (in a way) both partners
in this plant; the lower garden is offering the plant air and sunshine, while the higher garden is
providing the means for the plant to take root.

SUMMARY

There 1s a dispute whether the 1°P°11 970 is one N2o» or many.

There needs to be justification why any n>on follows its predecessor. The concept
of mwn? 170 PR N30» N2 is only concerning the rule of ano 3"nRY NPY2rn the 79911
1s ONO2; in that it applies only in one nN3on.

Our n>on continues where we left off in the end of Xy>¥» X22. There the n11wn were
discussing laws of division among joint property owners. This theme is carried
OVer in our 7Iwn.

THINKING IT OVER
1. Can we ask why does 27177 279 (for instance) follow P51 P39 (in n"2)?

2. Is mv01n explaining the order of the N1n3on or the continuity of the N1N3on?

3. Why is mpoIn quoting that the X na calls them Pomw? We are discussing the
nriwn, not the XI2x!

4. Why does mpoin find it necessary to explain the connection by quoting both the
first and last mawn of 7%y n*an?
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